6A1 - Express missing number problems algebraically

A. a+9=4+6
B. 9-a=6-4
C. ax9=4x6
D. a+6=4+9

Which equation represents the number rods?
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a+9=10

ax9=10

A.
B. a-9=10
C.
D.

a+10=9

Which equation represents the number rods?
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170°

A +170 =180

A

B. A=170-180
C. A-170=180
D

180 :+ A=170

Which equation can be used to find the missing angle A?

24°

A +90 + 24 =180

A

B. A=180-24
C. A=90+24-180
D

180 =90 x 24 x A

Which equation can be used to find the missing angle A?
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A. 2a+6=T7+3

B. 6-2a=7-3
C. 2ax6=7x3
D. 2a+7=6+3

Which equation represents the number rods?
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Area= 40 cm?
20 cm
A. (20:2) x h=40
B. 40=20+2h
C. 40=2hx20
D.

20=(40:2) x h

Which equation can be used to find the length h?
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